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5 Find the Laplace transform of f()= s-4t 

[*:.
OR

6 
a Find t 

{5;h}, 
urine convolution theorem.

b Find L'{ , :', -}. urinn Convolution theorem.
|.[" * 4) (r' +zs))

a Obtain the Fourier series expansion of f(r) : {n - r}2 in 0 ( r < 2n and deduce

ttrat |*i*#*i -:f.
b Find the Fourier series for the function f(r) : r ; in -rr { x { n .

OR
Find half range Fourier cosine series of f(x) : (r - rle in 0 { r ( 1.

Hence showthat,) iti*#+*- - **= f
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(Answer all Five Units 5 x 12 = 60 Marks)

E,NiTT
Find the root of the equation xd:2 using Regula-falsi method.

OR

Use Newton's backward interpolation formula to find f(32) given f(25):0.2707,
f(3 0) :0. 3 027, f(3 5) :A. 3 3 86, f(40) :0. 3 794.

Using Taylor's series method find an approximate value of y at x: 0.2 for the D.E l?M
yt - 2y: 3e*, y(0) : 0. Compare the numerical solution obtained with exact solution.

OR

using R-K method of 4th order, ,oN"L = ##, 
y(0):1. Find y$.2)and y(0.4) . lznfl

5'
L Find the Laplace transform of f Q)= [u-' cost dt .
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